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Question Number : 1 Question Id : 4509387521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. ; 15
The range of the real valued function f (%) = — 15
) 3sinx+4cosx+10
L " W o i 15 — ot o
TP SO 500N f(x) = A30EY °§a)

3sinx+4cosx+10

Options :

[0. 3]
1. %

[—1.3]
2. %

Qcollegedunias



[1. 3]

3.¢

<1 i

Question Number : 2 Question Id : 4509387522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Define the functions f. g and h from R to R such that f (x) =x* -1, g (x) = Va2 +1 and

. (0,ifx<0

h(x) ciFis Ucmlsider the following statements

(I) fog 1s mvertible (IT) 7 15 an 1dentify function
(1) fog 15 not invertible (IV) (hofog) x =x°
Then which one of the following is true?

0, x <0 ®ONS
¥, X > 0©0NS

O™ R HOG R § £ g HOOW b (NHAIFOD AE;R00R. & (50b
2O AO(IB0I0.

(D) fog DS sRAOHO (D) 1 2.8 €65 303 (b ohal)

(I fog DS A0 T (IV) (hofog) x =17

29500 & 1§00 TS A Hebsn?

f () =27 ~1,9 (@)= T+ IO (x) =

Options:

II, IV
1. %

IT. 111
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I, IV

I.11

Question Number : 3 Question Id : 4509387523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P is the greatest divisor of 49" 4 16n — 1 forall n € N. then the number of factors of P is

DS nEN 5 P OO 49" +16n—1 F) 05 TR, @) P OFY

SOTOTE OP;
Options :
12
1. %
15
2. %
7
3. %
13
4, %

Question Number : 4 Question Id : 4509387524 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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0 3 2
A= [2 3 0| and B 1s a matrix such that AB = BA. If AB is not an identity matrix, then the

4 0 3

matrix that can be taken as B 1s

0 1 2
A=[2 30
4 0 3
578 B, BT SSTHOT B

00 B 96 AB =BA TN i) P38, AB 2.8 eheh oD

Options :

-9 —3 B
-6 8 —4

12 -4 -2

9 =T -
—6 8 —4

~12 -4 2
2. %
9 -3 -6
[—6 8 —4‘
~12 4 -2
3.
9 -3 -6
I—e -8 4
-12 4 -2
4.v

Question Number : 5 Question Id : 4509387525 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

:
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¥-2 0 1
If o,B,v (a < p<v) are the values of x such that I 1 xt3 2 ] is a singular matrix
2 0 Zx-1

then 20 +3p+4y=

x-=2 0 1
o,fv(@<p<y) @JI 1 x43 2 |99 28 orprden «red edhietor
2 0 -1

€509, x CR0E) ANNBS , 20+ 3p + 4y=

Options :
4
1.4
2. % g
1
3. %
2
4, ®

Question Number : 6 Question Id : 4509387526 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The system of linear equations x + 2y + z=-3.3x+ 3y -2z =-1.2x+ 7y + 7z = —4 has

x+2y+z=-3, 3x+3y-2z=-1 +Ty+7z=—-4 OF S 00

508

Options :

:
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infinite number of solutions

0D AN AP E50LION
1%

no solution

TG O
2. ¥

unique solution

DBE TS E0ENOH

finite number of solutions

DO HOWEES FCIINOETOD
4. %

Question Number : 7 Question Id : 4509387527 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

[a+iV3)(—V3 -]
B a-aHes |

Options :

2. ¢
gcollegedunias



3. % .
= IE
2
4. ®

Question Number : 8 Question Id : 4509387528 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P(x, y) represents the complex number z = x + iy in the Argand plane and Ar'g (

then the equation of the locus of P 1s

2= 1 +iy 9080 025 890k 06 P(x, y) TFN0A HBAD
Arg C_TT) = % @ON®, P B, Do A& A¥BE0
Options:

x> +y>+4x—3y=0and3x—4y >0
24+ 92 +4x -3y =0080%0 3x —4y >0

x24+y2+4x—3y+2=0and3x —4y >0
x2 +y2 +4x—3y+2=0:0080 3x—4y >0
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x24+y2+4x—3y=0and3x—4y <0
x2 4392 +4x -3y =0,0800 3x—4y <0

3.¢

x>+ y*+4x—3y+2=0and3x—4y <0
x2+y2 +4x—3y+2=0:0080 3x -4y <0

Question Number : 9 Question Id : 4509387529 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If cose+4cosf+9cosy=0andsina+ 4sinff + 9siny = 0, then

81 cos(2y — 2a) — 16 cos(2f — 2a) =

cosa+4cosP+9cosy= 00800 sina + 4sinf + 9siny = 0 ©HONS,
81cos(2y — 2a) — 16 cos(2f — 2a) =

Options :

1+8cos (f —a)

1.4

cos (f — a)
2. %

1—36cos (f —a)
3. %

1+ 6cos (f — a)
4. %

:
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Question Number : 10 Question Id : 4509387530 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If ‘a’is a rational number. then the roots of the equation x* — 3ax + a> = 2a -4 =0 are

WP ETEN)
Options :

rational and equal numbers

537 e9BBE30%H HoWwseN

1. %
different real numbers
DY TN DODEEN
2. ¥
different rational numbers only
DS, BBEEION HOWEEN 753D
3. ®
not real numbers
TR DOWEEN 5D
4. %

Question Number : 11 Question Id : 4509387531 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

:
gcollegedunlas
India’s largest Student Review Platform



vl +ax+?

xi4x+l

< 3 holds for all real values of ¥ is

The set of all real values ‘a’ for which —1 <

22+ ax+2

©R), TN NN 1 &, 1< <3 TENED O™ GOR ‘o’

x2 x4+l

5 ©A) TR DENSO) Deded

Options :
(=7,5)

1. #

e &
(1,5)

3.¢

4, ®

Question Number : 12 Question Id : 4509387532 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The quotient when 3x° — 4x* 4 5x® — 3x? 4 6x — 8 is divided by x* + x — 3 is

I -t 458 -3+ 6r -8 02 +x-3T e;vﬁfg NTRARATALTS)
Options :

3x2 — 7x—21

:
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3x3 —7x2 4+ 21x—45
2. %

3xt — 7x3 4 21x%2 — 454+ 114

114x — 143

Question Number : 13 Question Id : 4509387533 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If @y, @, a3 @ s are the roots of x® — 5x* 4+ 9x* —9x? + 5x — 1 = 0 then

1 1 1 1 1
BTt teETE™
g 7 By My dg

x® — 5x* 4 9x3 — 9x% 4 5x — 1 = 0 CR0EY TETEN ay, ap, @5 @y s OONS

1 1 1 1 1
Ziatatzt==
Ty 2 o4 & 4
Options :
., 15
1. %
1
2. % 7
7
3. ¥
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12

Question Number : 14 Question Id : 4509387534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

There were two women participating with some men m a chess tournament. Each participant
played two games with the other. The number of games that the men played between themselves
is 66 more than that of the men played with the women. Then the total number of participants in

the tournament is

2,8 30 658) 308 S0 aB8 Hergen 850 0B HHOS 7O T &.
FOS (98 HeHsch DAOY 6& Toch D shTh. & 5608 S0
B0 K5 ZBAS TBo B8O HoDS, HEDED (AOS e et Hops

$0%) 66 8032 0N & Fe3eS reTed) Tnho 323 os
Options :

17

19
4, ®

Question Number : 15 Question Id : 4509387535 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minim@ﬁdegedwﬁaé

st Student Review Platform



Time:0

The number of ways of arranging 9 men and 5 women around a circular table so that no two
women come together are

AE:Talo) L'f’\)m 295 (254 TR0 9 DOE o)D), G@ONNMHE ﬁ’gm 28
SITTE DO THEY TR ATO oD

Options :

8! 8p,
1. %

91°p,
2. ®

8! °P.
3.v

8! 5!
4. %

Question Number : 16 Question Id : 4509387536 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If there are 6 alike fruits. 7 alike vegetables and 8 alike biscuits, then the number of ways of

selecting any number of things out of them such that at least one from each category is selected.

is

2,8 BE0M &b, 6 DO, 2.8 S0 tad) 7 SrSPohEn HBAM 2,8 G5O &) 8

280 G 00. I DG (IBETAE TOAS 500 258 BONT GOCHNED

D), DDYOTS NOHHD GO 0§
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Options :

504
1. %

336
2.

503
3, %

335
4. %

Question Number : 17 Question Id : 4509387537 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the coefficients of r™, (r + 1)™ and (r + 2)™ terms in the expansion of (1 + x)" are in the
ratio of 4:15:42, thenn—r =
(14 x)™ QR05} DGea OO o), (r +1)a) DB (r + 2)o) IO (DEISEN 4:15:42
DAIBES OB n—r =
Options:
18

1. %

IS

14
3.
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Question Number : 18 Question Id : 4509387538 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the coefficients of (2r + 6)™ and (r — 1)™ terms in the expansion of (1 + x)?! are equal,

then the value of r =
(L+0)% B8, DS (2r+6) HOKW (- 1) HTO HETE) HSTSHB, 1
O308) DN =

Options :

Question Number : 19 Question Id : 4509387539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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If = ="} —_ fhen A+B=
24172430 2xES | oxie -

13x+43 A B
a = +— ®ONS@ A+B=

2x2+17x+30  2x+5 x+6

Options :
1.4 :
18
2. %
3
5
4. ®

Question Number : 20 Question Id : 4509387540 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tana + 2 tan2a + 4tan4a + 8cot8a =

Options :

sina
1. #®

cos a
2. %

tan «
3. %

:
gcollegedunlas
India’s largest Student Review Platform



cota

Question Number : 21 Question Id : 4509387541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

tan9 — tan 27° — tan 63° + tan 81° =

Options :
1. 4
3
2. %
A
3.%
1
4, %

Question Number : 22 Question Id : 4509387542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

cos 6° sin 24° cos 72° =

Options :

Qcollegedunias



4
2. %
1
3. % 8
1
4
4, %

Question Number : 23 Question Id : 4509387543 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The values of x in (-, m) which satisfy the equation

(—1,7) WOSBOES Erotay, GHHeos reostet — 43 SAKKema)Y 00T 1 B0

)N

Options :

1.4

I+
o

I+
| =

1+cos? x4costxt _ 43
8 =4

wi| o
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wi| =

Question Number : 24 Question Id : 4509387544 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
50
¢
cot ZTan_l (—) =
1+n+n?
n=1
Options :
26
1@ 25
25
26
2.
50
51
3. %
52
51
4, %

Question Number : 25 Question Id : 4509387545 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0 .
Qcollegedumas



o 71 j
If sinhx = % then cosh 2x + sinh 2x =

sinhx = \’T €900 cosh 2x + sinh 2x =

Options :
21
1. %
25
2. %
23 +5v21
3.¢ 2
32 + 5v23
2
4, %

Question Number : 26 Question Id : 4509387546 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

InaAABCifa=13.b=14.c=15thenn=

AABC S a=13.b=14.c=15 @O0 11 =

Options :

:
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2
2.¥
25
2
3. %
26
4% 3

Question Number : 27 Question Id : 4509387547 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

InaAABC. ifr:R:1, = 1: 3: 7 then sin(A + C) + sinB =

AABC & r:R:1y = 1:3: 7 @008 sin(4 + C) + sinB =

Options:
0
1. %
V3
2. %
1
3. %
4. 2

:
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Question Number : 28 Question Id : 4509387548 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC, (ry + ri]lcoserzg —

o M. i
AABC 0O (ry + }‘E)CGSECZE —

Options :

&
2R cot? —
co >

’|. 4
C
4R tan?—
2

2_ F
4R cot? —

3. ¥
2R tan? :
tl. =
an >

4, %

Question Number : 29 Question Id : 4509387549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunias



IfA=(1,2,3), B=(3,4,7) and C = (-3,-2,-5) are three points then the ratio in which the
pomnt C divides AB externally is

A=0(1,2,3), B=(3,4,7) HOOW € = (=3,-2,-5) &0 s HONHOONSB, 4B D C
DO 2PeTS0T DBR0T S

Options :

2:3
1.4

3: 2
4-3

3:4

Question Number : 30 Question Id : 4509387550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the vectors ai + j + 3k, 4i+ 57 + kand 47 + 2j + 6k are coplanar, then a =

Qi+]+3k 4+5]+k OO0 4 +2] + 6k 95 HAIEN NSO, a =

Options :

2
1.¢

:
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(%]

Question Number : 31 Question Id : 4509387551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Let [a] =2,

T e = T . .
b| = 3 and the angle between a and b be T If a parallelogram is constructed with

adjacent sides 2a + 3b and @ — b, then ifs shorter diagonal 1s of length
[l = 2,|b] = 3 HBAW T, b & S¢S Seaan g B0, 20 + 3b O T — b €N

E30a)), 2DV (1€ 0 TIENG) Y2y F’O@fg D), D5Q00 O30, archa)

Options :
108
1. %
172
2. %
6v3
3. v
2+/43
4. ®

Question Number : 32 Question Id : 4509387552 Display Question Number : Yes Jg Question
collegedunia:
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The values of x for which the angle between the vectors x% + 2xj + kand i - 2j + tk is obtuse
lie m the mterval
x5+ 2+ k oDO0 1-2j 41k @ AOFO NS Sran HES DTN

A

&) 1 AN &OT @00
Options :

(_mr U:} U {3: m)

1. %
(0,3)
[0,3]
3. %
4, %

Question Number : 33 Question Id : 4509387553 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

i o= k i+ j+ k, i+ j+ 2k and 2i + j are the vertices of a tetrahedron then its volume is

i—j—k i+j+k i+)+2k 000 20+ 0 2.8 D Bk} ITOONS TR
D JITE0

Options :

1. &

:
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| =

2. #®

3
3. %

1

3
4.

Question Number : 34 Question Id : 4509387554 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Based on the following statements. choose the correct option

2
, X one-1
Statement-I:  The vartance of the first n even natural numbers 1s —

Statement-II: The difference between the variance of the first 20 even natural numbers and their

arithmetic mean 1s 112

1808 (DI ST, O DAYTR), ) §0d
e
[2I30-L TNEE DO NaPBR0DIE BHE) D ed nTl

IO TVCEES 20 B AFPBAODEO AYE SO0 areS @OF D)z
058 e Bedo 112

Options :

1.

®

:
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Both Statements are true and IT 1s a correct explanation of I

GO 2edTIT"EN eH £ aNOOIN I ABNEY ABAD 3B II

Both Statements are true but II is not a correct explanation of I

COCH (2eITIT"EN AEH eI, 5% T ABEY O DedBeD IT 5°¢N

2. %

Statement-] is true and Statement-II is false

(0909TIIO-T Q0555300 sNAAD (23aITISO-IT €065 5530
3. %

Statement-I 1s false and Statement-II 1s true

10909TIIO-T @920€8 5300 DO AW (eI TIIO-TT Q€D 5530
4.

Question Number : 35 Question Id : 4509387555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

7 ; ; : 7 ; : ; :
If each of the coefficients a, b, ¢ in the equation ax* + by + ¢ = () 1s determuned by throwing a die,

then the probability that the equation will have equal roots, 1s

ar’ + b + ¢ = 0 HNEBOS D 5 HE0 0, b, ¢ D 2.8 FPAED BBOLBEO T 507
NT6e TR0, £ DEGEIN e PO SO GOT N0zr5eh

Options :

2. Qcollegedunias



72
%
216
3. %
5
216
4.

Question Number : 36 Question Id : 4509387556 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A and B throw a pair of dice alternately and they note the sum of the numbers appearing on the

dice. A wins if he throws 6 before B throws 7 and B wins 1f he throws 7 before A throws 6. If A

begins, the probability of his winning 1s

A B0 B ) 2.8 2 PO TSI SO, FOLO 0D DENSO

@A) HETED. B Ach FoHERS SmoT A 8t T A TODIEVPD HOA A

38 FOHFAE 00T B b I B TOISEIMD [ESTE. A IBennda,

29k TIOT 0Ted3ed

Options :

15
61

21
61

:
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30

61
3. %

36

61
4. %

Question Number : 37 Question Id : 4509387557 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: : . 1
E; and E; are two independent events of a random experiment such that P(E; ) = P and

P(E,U E) = g . Then match the items of List-I with the items of List-IL

28 QIS WOR0S £ nB0 B e P(E)=> HOMP(E, U E)) =+

©THHET &) Toch D50 DD, ®YID DI SQ BOFOD

PN S WOTOS 26 TOVOA.

d)e-] eIl

(4) P(E) |0 1
2

(B) P(E\/Ey) | (i) 5
6

(€) P(Ey/Ey) | (i) 1
3

(D) P(ELUE) | (i) 1
6

(v) z

3

The correct match 1s

DB B

:
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Options :

A-u1; B-1iv: C-1:  D-v

1. %

A-111; B-1:  C-v: D-i1
2.

A-1; B-v: C-u: D-v
3. %

A-v: B-1:  C-ui: D-u
4, %

Question Number : 38 Question Id : 4509387558 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A bag contains 4 red and 5 black balls. Another bag contains 3 red and 6 black balls. If one ball 15

drawn from first bag and two balls from the second bag at random. the probability that out of the

three. two are black and one 1s red. 13

28 500G 4 B HBA 5 SO 2oy Gy, B HODS 3 IV
005 6 FO 20eeN &I AN, FNGE 0D Do 2.8 208, To& oD
306 Both 20MHOD OFEYDISOT B, & P 2000S Todk SOV
B0 2,563 JBNE SO N02TRISEd

Options :
20
27
1. %
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17

18
2 %

25
3 ¥ 54

25

108
4, ®

Question Number : 39 Question Id : 4509387559 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If a random variable X has the following probability distribution. then its variance is nearly
X=x 3 =3 =2 = { 1 2 3
PX=x): 005 01 2 0 03 K 0l
28 OIS WoT X 68 500 S0ardie adamR)SON G0, €)M o
A
Xex o =3 =2 =l 9 1 2
PX=x): 005 01 2k 0 03 K 0l

L)

Options :
2.8875
1.¢
2.9875
2. %
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2.7865

Question Number : 40 Question Id : 4509387560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A radar system can detect an enemy plane i one out of 10 consecutive scans. The probability that

it cannot detect an enemy plane at least two times in four consecutive scans. 1s

2,8 T 355 10 S @ OF 2,5 0hoch 2.8 4| &) Q) (D808
©f T SHO R OD TRSYID S0 Tohrrd HghANr)
HBOVBEY DD dozraged

Options :

0.9477
1.¢

0.9523
2. %

0.9037
3. %

0.9063
4, %

Question Number : 41 Question Id : 4509387561 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Mlnlm@ﬁsﬂ?gedma

Review P



Time:0

The locus of a variable point which forms a triangle of fixed area with two fixed points is

Boch G DoBHOS VIFTO0 EORN BBV BT 28 HEDOD)
a30%) DoHG0

Options :

a circle

2.8 5950

a circle with fixed points as ends of a diameter

O DOCHYEN TLT(TED T 1) 2,8 239ad0

2. #

a pair of non parallel lines

A0SO B 2.8 HBFO e a0
3. %

a pair of parallel lines

D30 S SESDae oS00
4.

Question Number : 42 Question Id : 4509387562 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

:
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If the axes are rotated through an angle ‘e, then the number of values of @ such that the

transformed equation of x? + y? + 2x + 2y — 5 = 0 contains no linear terms is
Drdé oFo o §008 (3000 TW, ¥+ +2+2y-5=0 d¥60
O30E), Braro B0 TOAS SDLBE0ES D 7 Hrren enao edhittr &od

@ O303) AENE) 0D

Options :
1.¢ 0
2. % :

%
3.%

Infinite

€9 H0EBO

4, %

Question Number : 43 Question Id : 4509387563 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A line L passing through the pomt P(—5,—4) cuts the lines x —y—5=10 and x+3y+2=0

respectively at Q and R such that % 5 % = 2, then slope of the line L 1s

P(-5,—4) Do) (D0 3D L ©F T, x —y -5 = 0 DO x+3y+2=0 TPOD

SN Q BN R © 3¢ % J% = 2 35D POER, & TP L TE, are

Options :

% :
1. gcollegedumas



Question Number : 44 Question Id : 4509387564 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the reflection of a point A(2.3) in X-axis is B: reflection of B i the line x + y = 0 1s C and the

reflection of C in x — y = 0 15 D then the point of intersection of the lines CD. AB 15

X-0508 A(23) oF Dochs) TBng) [HBN0R0 B; x+y=0 5S B 30,
NS00 € HOK x—y=0 & € Bog) (HBD020 D @S, CD, AB T9e
DO 20

Options :

:
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Question Number : 45 Question Id : 4509387565 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The equation of a line which makes an angle of 45° with each of the pair of lines

xy—x—-y+1=0is

xy—x-y+1=0 Ografos 96 B8 45° Fard) Do a8 8B

Dan8BE0

Options :

¥ —=gp=05
1.4

ZxFy =3
2. %

x¥+7y=8
3. %

g — =24
4. %

Question Number : 46 Question Id : 4509387566 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minim ®®asltegedtioria:
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Time:0

If the slope of one of the lines in the pair of lines 8x% + axy + y? = 0 is thrice the slope of the

second line. thena =
D6 Barainifo 8x2 +axy +y2 = 05 &8 O arew, Bocks B2 T8 sireh

3ty &0, a=

Options :
. 2
3
1.¢
2. % .
16V2
3. %
g1
4, % 5

Question Number : 47 Question Id : 4509387567 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The triangle PQR is inscribed in the circle x% + y? =25. If Q = (3,4) and R = (—4,3) then

LQPR =

82520 PR 5980 x? + y2 = 25 S ©06090sB08. Q = (3,4),R = (-4,3)

O QPR =

Options:

:
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3| =

1. %
T
3
2. #
s
4
3. ¢
T
6
4. %

Question Number : 48 Question Id : 4509387568 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The locus of the point of intersection of perpendicular tangents drawn to the circle x% + y% = 10

15
d4y2=10 83 SHTR8 A 00500 Dok Hochs) TS
ALA AN
Options :
.'11'2 + _'}-"2 — 5
1. %
% § 9% =20
2. ¥

:
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Ht\..'l
.+.
FqH
I

100

Question Number : 49 Question Id : 4509387569 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The normal drawn at (1. 1) to the circle x* + y> —4x + 6y —4 =015

x4y —4x + 6y —4 = 00T S90S (L, 1) 3¢ A ©de0adD Hadidno

Options :

4x +3y =7
1. %

4x +y =75
2.

Xy =2
3. %

4x —y =3
4, %

Question Number : 50 Question Id : 4509387570 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0 )
% collegedunias



Parametric equations of the circle 2x? + 2y2 = 9 are

2x2 + 2y2 = 9 @1 9o A3y AT DESeTE

Options :
3 3
* =—rfasll , y—=—sinf
2 2
1. %
3 .
x —=-—cos@ ,; y=3sinb
V2
2. %
3 .
x =—=sinfé , y=-—cos@
V2 V2
3.¢
x=3sind , y 250058
4. %

Question Number : 51 Question Id : 4509387571 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Angle between the circles x? + y2 —4x —6y -3 =0andx® + y? + 8x — 4y + 11 = 0is

24 y2 —dr—6y—3 =000 12 + y2 4 8x — 4y + 11 = 0 O YO D3 T80

Options :

3
1.
gcollegedunlas



o | =

2. %
i
2
3. %
8
4
4. %

Question Number : 52 Question Id : 4509387572 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Equation of the line touching both parabolas y* = 4x and x? = —32y is

y? = 4x HBOM x2 = —32y DTSOOTE) a0 )50 DeDEBL0

Options :

r4dy+E=10
1. %

Zx+y—4=10D
2 %

x—2y—4=0
3 ®

=2y +4=0

4. & .
collegedunia:



Question Number : 53 Question Id : 4509387573 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The length of the latusrectum of 16x2 + 25y2 = 400 is

16x% 4 25y2 = 400 @3 OY59e50 TBE) D L0260 rChad)

Options :
25
1. #
25
4
2. %
16
2
3. %
32
5
4.

Question Number : 54 Question Id : 4509387574 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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The line 21x + 5y = k touches the hyperbola 7x% — 5y% = 232 then k =
21x+5y=k © 0D 72-5y?=232 &3 OBITHO0TVE 93009 ©ond
s

Options :

116
1.4

232
2. %

58
3. %

110
4, ®

Question Number : 55 Question Id : 4509387575 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
o

If the equation g sk T 1 represents a hyperbola. then

5 y? V., V. ¥ = G

se==1 897 NDEGEI0 2,8 OBINT SOOI AN @ 1¢h,
Options :

hoagileen 7

1.¢

¥ eh or BT
2. % gcollegedunias



k+5 k+x7 —®gkgo

Question Number : 56 Question Id : 4509387576 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
: B o oo g : :
If a line L makes angles 5 and i with Y-axis and Z -axis respectively. then the angle between L

and another line having direction ratios 1. 1, 1 1s

L &3 2,509 Y-850 B0 Z-095 008 SEP g 505 g §eren T, 1, 1. 1

B8 AEen o) HBRNE Tad 80 L T §60

o .
4.9 gcollegedunlas



Question Number : 57 Question Id : 4509387577 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If [, m, n are the direction cosines of a line that is perpendicular to the lines having the direction

ratios 1, 2. —1 and 1, =2, 1 then (J+m+n)>=

1,2, -1 00050 1, =2, 1 ©c) BF da)Eent ey Boch Tnersy ©00T &0R 0D

Options :
1
. 20
1. %
D
5
2.
1
5
3. %
3
20
4, %

Question Number : 58 Question Id : 4509387578 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Mmlmw ruc ion
ollegedunia:
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Time:0

The foot of the perpendicular drawn from a point A (1. 1, 1) on to a plane 7 1s P (=3, 3. 5). If the
equation of the plane paralle] to the plane 7 and passing through the midpoint of AP 1s
ax—y+cz+d=0thenatc-d=

AL L 1) Dotdsy ot $00 1 GOHFDS ©02FN0 P (=3, 3, 5). $00 7 §
JAPOBEOT 0L, AP BNE) NEE DO MO FTD S0 Nadideo

ax-y+cz+d=08008,a+c—d=

Options :

—10
1.

5
2. ®

=13
3 %

2
4, ®

Question Number : 59 Question Id : 4509387579 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

. [ZE—3
lim —=

xX—m x
Options :

0

:
gcollegedunlas
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)

Question Number : 60 Question Id : 4509387580 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

cos2x—cos3x

lim =
x—+0 cosdx —coshx

Options:
1.4
1
2. %
3
4
3. #
4. %

Question Number : 61 Question Id : 4509387581 Display Question Number : Yemwmaé

s largest Student Review Platform



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
2x%+(k+2)x+9
o ——— forx+3. .
If a real valued function f (x) =1 3x2-7x-6 is continuous at x=J and [ isa
[ for x=3
finite value, then /-k=
202 +(k+2)x+9

W, W . ?r X 3§ oAl

2,8 T POFON0 f(x) =1 3x2-Tx-6 1=3 50
l , 1=3 8

9D sBAM 1 2,8 BN Neng®d, 1-k=

Options:
31
11
1. %
124
(5 ¢
2.9
24
3. ®
a.% 32

Question Number : 62 Question Id : 4509387582 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Qcollegedunias



x ~f - dy
+ Tan + Tan , then (—) =
+2x2 1+6x2 1+12x2 ity

2

Ify = Tan* :

X

y =Tan™ _Hx +Tan™? +Tant

dy
90N, (—) =
2x? 1H6x2 1+12x* ik

dx/ ,—
z

Options :
1
1. %
—1
2. %
0
3. %
1
4, ® e

Question Number : 63 Question Id : 4509387583 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If f(x)=5cos®x—3sin?x and g(x) = 4sin®x + cos? x, then the derivative of f(x) with

respect to g(x) is

f(x) =5cos x — 3sin®x OO g(x) = 4sin’x + cos’x @OV, g(x) GYFS f(x)

O308) WIZOB0
Options :

5cosx + 2

6cosx —1

1. % gcollegedunias




(5 cosx + 2)

6cosx —1
2. %
15cosx — 6
12sinx+ 2
3. ®
(15 cos x + 6)
\12sinx —2
4.

Question Number : 64 Question Id : 4509387584 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

fy=1+x+x2+x%+...0and |x|] < 1,theny =

y=1+x+x2+x34...0 000 |x] < 1 ®ONSB, y" =
Options:
2}{1?'

1.+

2y

JT

3, %
gcollegedunlas



2y2y

Question Number : 65 Question Id : 4509387585 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The semi-vertical angle of a right circular cone 1s 45°. If the radius of the base of the cone 15

2-1
measured as 14 cm with an error of ( T )Llll then the approximate error in measuring ifs total

surface area 1s (in sq. cm)

28 002 Symah Jode T ITY F0 4. & 08 TY, rardo

(J_)mom O BA08 14 0. T SOSMAB, T N0FE &8s

SPersR), FOSGE0S 300 GZo00s) 50 G5 0., o)
Options :

14

L)

4. %

Question Number : 66 Question Id : 4509387586 Display Question Number : YesJg Question
collegedunla
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a man of height 1.8 mt. is walking away from the foot of a light pole of height 6 mt. with a
speed of 7 km per hour on a straight horizontal road opposite to the pole. then the rate of change

of the length of hus shadow s (in kmph)

18 2000 ) Koy 2.8 358 6 DO ) e 28 BIN0HB0 F0 Hod TS
AHDTDND) 28 BEYA GrerdP 005 7800 Siod Y VS, ©ed
N FHS et Bew (ot EN.o)

Options :

L
/

I~

Question Number : 67 Question Id : 4509387587 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the curves 2x% + ky? = 30 and 3y? = 28x cut each other orthogonally. then k=

2x2 + ky? = 30, 3y = 28x 357N )80 ©02)0T POLOTHROD), k=

Options :

:
gcollegedunlas
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1. %

3
2. %

2
3. %

1
4.

Question Number : 68 Question Id : 4509387588 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: i3 . - 1
The interval containing all the real values of x such that the real valued function f(x) = vx + =

"

is strictly increasing is

T O (DONO f(x) = -»Jﬁé HEO 807E |HDDTHILET GOT
G308} ') DENIOR) 03 O @0ed0
Options:

1.4

0. 1)

(—e0, 0) W (1, )

:
gcollegedunlas
India’s largest Student Review Platform



(—o0. 0)

Question Number : 69 Question Id : 4509387589 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

" pdx H8x—4 () 4 1) cos(3x% + 6x —4) dx =

Options:
€4x2+8x—4
75 [3sin(3x% +6x —4) —4cos(3x2+6x—4)] +c
E4x2+3x—4
= [4cos(3x2 + 6x —4) +3sin(3x2+6x—4)] +¢
2.
€4x2+8x—4
o [3cos(3x% +6x —4)+4sin(3x2+6x—4)] +¢
3. %
€4x2+8x—4
= [4sin(3x2 + 6x —4) —3cos(3x2+6x—4)] +¢
4. %

Question Number : 70 Question Id : 4509387590 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minim®%¥Iasitegediona:

||||| 's largest Student Review Platform



Time:0
J‘[(:Iﬂg 2x)2+2log2x] dx =
Options :

(log2x)% +c

1. %

2xlog2x+c
2. ®

x(log2x)® + ¢
3.¥

2x(log x)* + ¢
4, ®

Question Number : 71 Question Id : 4509387591 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If [ log(6sin® x + 17 sinx + 12)°°5% dx = f(x) + c then. f 9 =

[log(6sin®x + 17 sinx + 12)% dx = f(x) + ¢ ©ONS, f (g) =
Options :

1 5 7
E[EOQS + log 7' —12]

23 .
> gcollegedunlas



1
E[T log5+5log7 +29]

6

|
6[15305}5 + 14 log 7 — 29]

1
[14log 5+ 151log 7 +12]

Question Number : 72 Question Id : 4509387592 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

1
— k=
J-(1+x2}*-.f';t;:2+2

Options :
3 Vx2 4+ 2
— Tan +c
| x|
1.4
—Tan 'yx2+2+c
2_ W
Tan™ 1 MR +c
| 2
N + 2
3. %

:
gcollegedunlas
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Question Number : 73 Question Id : 4509387593 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
’-Sfﬂd' x cos*x dx =

Options :

EEZ—Z sin®xcosx —3sinxcosx+3)+c

-(—2sin3 2x cos 2x — 3sin2xcos 2x + 6x) + ¢
256

ﬁ(z sin® xcosx —3sinxcosx + 3x) + ¢

—(3sin®xcosx —2sinxcosx+2)+ ¢
256 ( )

Question Number : 74 Question Id : 4509387594 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
écollegedunias
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Options :
w12
1. %
~(5+2)
= (2
2. % “
L 12443
3. % -
T s
§+2 — W3
4.

Question Number : 75 Question Id : 4509387595 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

IfM = f —dt and N = J. — dt, then
e
® Jog t W
f —d‘r OBV N J. dt o
i 1+e3t
Options :
N=2M
1. %

gcollegedunlas



2. *

N=3M
3. %

N=-M
4.v

Question Number : 76 Question Id : 4509387596 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

2 3
f (4 — xHzdx=
=

Options:

40 =
1. %

20m
2.9

10w
3. %

o

22
4, %
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Question Number : 77 Question Id : 4509387597 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

]

I a2 e 2o

Options :

log2 — %
1. %

e (lng 2 —é)
2. %

. (2]0g32 —1)
3. ¢

1
E(zmgz - 1)

Question Number : 78 Question Id : 4509387598 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

5m 5
J (1 — cos2x)zdx =
—5x

Options: )
% collegedunias



6442

1. % 5
12842
2. % ?
25642
3
3. %
1282
3
4.9

Question Number : 79 Question Id : 4509387599 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The differential equation of the famly of hyperbolas having their centres at origin and their axes

along the coordinates axes is
20 Doche) HQ oo 08, AGFNSTTe F0ad wTod O e

TR §1En020 BNE ©IEOS HESE0

Options :

Xyys+ Xy; — yy1=0
1.9

XV2 — KYI}"E“‘ yy1=0

:
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xXyy,+ xy; + yy1=0

Xy, + xyi — yy1=0

Question Number : 80 Question Id : 4509387600 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (xy + y*)dx — (x* — 2xy)dy=01s
(ry +y3)dx — (x? — 2xy)dy = 0 & 938630 HNEBEI0 TBNEY FPTFI L5

Options :

c x y2=e*/¥

1. %

cxyle*Y =1
2. ¢

cxye*¥ =1
3. %

cxy=e*Y
4. %

:
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Physics

Section Id : 450938160
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0

Is Section Default? : null

Question Number : 81 Question Id : 4509387601 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
In the equation (P : - %) (V—b) = RT, where P s pressure, V is volume. T is temperature, R is
universal gas constant. a and b are constants. The dimensions of a are
(P +%) (V—b) = RT &% SeEBE0S P- DETRY, V- s0eSBsrer), T-
&5 16505, R- P05 B PO VOPOSR) TR, a,b €0 VTPOFEN 900S 2
0305, aENEN

Options :

7 P H
MLST 2

MY T

Qcollegedunias



ML3T 2
®

Question Number : 82 Question Id : 4509387602 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A particle starts from rest and moves m a straight line. It travels a distance 2L with uniform

acceleration and then moves with a constant velocity a further distance of L. Finally. it comes to

rest after moving a distance of 3L under uniform retardation. Then the ratio of average speed to the

maximum speed (vi) of the particle 1s
m

2,8 $69:0 DTS 0B AODENTO HELTD NN SN, Sb Lo
2L 82000 508 &880 (0o, HeHn0 L Erdsnad N Sns'
DOSPEI0D0B. B 3L TG0 SO 20069 & NS |DOIPEIOD DTV

$2)08. & s N0 TS 00D eSS IS s A ()
m
Options :
=T
1.¢
11
2. %
11
3. %
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Question Number : 83 Question Id : 4509387603 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A boy throws a ball with a velocity 'V, at an angle ‘o’ to the ground. At the same time he starts

running with uniform velocity to catch the ball before it huts the ground. To achieve this, he should

run with a velocity of

2,8 arench 2.8 208V, FH0S § 82 N3P0 Berds a §0 TR VO,
O 00H0S rendh N SHod HHAB 208 AN 0K

JENTTODF0OD), & arend) Hio

Options :

V, Cos o
1.4

V, Sin «a
2. %

V, tan a
3. %

2
V, tana

Question Number : 84 Question Id : 4509387604 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minim@m&géamﬂag

largest Student Review Platform



Time:0

Aball at point ‘0’ is at a horizontal distance of 7 m from a wall. On the wall a target is set at point
'C’. If the ball 1s thrown from ‘0" at an angle 37° with horizontal aiming the target ‘C’. But it luts

the wall at point ‘D’ which 1s at a vertical distance ‘y,” below C. If the wnitial velocity of the ball is
15ms~*. Find y, (given c0s37° = g)

0 ©F Do) 5P ) 208 AEH DS ArG0 7m. FeR C DOy 5
©552) APN0THD. 2083 ‘0’ HOcHY 0B §8R dsrosdo & 37° FHod
DN OO O, ‘T LT y, WY Bodie D Do) TE0E. 208

SO 3110 15 ms ™1 90N, g VNS (ms e g)

[ e e

T T T T T TR T T T T T T TR T W

Options :

2m

17 m
2.

1.5m

3 m
4, %
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Question Number : 85 Question Id : 4509387605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The acceleration of a body sliding down the inclined plane, having coefficient of friction 'y, is

W n0en heagsn o) Fen B 3020 8068 ) (sliding down) 9e)e)

005}, 8GN 2I€Nod

Options :

a = g(sinB + p cosB)

1. %

a = g(sin® — p cosB)
2.9

a = g(cosB — p sinf)
3 %

a = g(cosB + pusinb)
4. %

Question Number : 86 Question Id : 4509387606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Abody of 2 kg mass slides down with an acceleration of 4 ms™2 on an inclined plane having slope

of 30°. The external force required to take the same body up the plane with same acceleration will

be (Acceleration due to gravity = 10 ms™%)

2 kg (335073 (10 2,8 Sy 4ms2 & 3560 30° S0 (1) AP SO

500 18008 2HNNA. AT Bi50NS, AT JDYD Ten By 8

205 TR 20 DN (HEDEA ¢ ¢ 380 = 10 ms™2)

Options : gcollegedunias



8N

1. %

16 N
2. %

22N
3. %

20N
4.

Question Number : 87 Question Id : 4509387607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Abody of mass 30 kg moving with a velocity 20 ms™* undergoes one dimensional elastic collision

with another ball of same mass moving in the opposite direction with a velocity of 30 ms™. After

collision the velocities of first and second bodies respectively are

30 kg (3035073 8O, 20ms™! SH0S HO0DNDNY 28 S0y, T (Se5073 EOR

0ms™ FMoS 80 OIS IOODNN) HOTE INHE A Vsl

BT DT BODS0. SASTBL O BT, T HOOW Bod:

DY FTeN SR

Options :

25ms™ 1,30 ms™!
1. %

30 ms 1,30 ms ™!
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30 ms™ 1,20 ms™?
3.¢

40 ms™1,15 ms™1
4. %

Question Number : 88 Question Id : 4509387608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Aforce of (4i +2j + E) N is acting on a particle of mass 2 kg displaces the particle from a position

of (21 42j + E) m to a position of (4i +3j4 2@ m. The work done by the force on the particle

i joules is

2 kg |335073 K0 28 Se0ed) aded NRATOMNY, (4i+2j+K) N 200 € 5edeyed

(2i+2j+K) m &3 T DHoD (4i+3j+2k) m ©OF TS0, T (P00

TOAODSE. @00 (DEFAODS 2O SO, 35:0ad) E BOAS DA TS

Options :

21
1. % ]

11]
14]

18]
4. %
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Question Number : 89 Question Id : 4509387609 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two blocks of equal masses are tied with a light string passing over a massless pulley (Assuming

frictionless surfaces) acceleration of centre of mass of the two blocks is (g = 10 ms™?)

Boch N (Gzomhen e ey BO5FE TEod 2rddired Sa) M
HR0ES BFHAGBIED E0NAABNE. Seren UYRBRS ©H5R, & Tok Bxne
5:9507350(50 GBE), ¢ 55690 $eDFS0B (g = 10 ms™?)

Options :
5(v3 - 1)
1. % .
5(1@ = 1)
==
5 o 2y 2

5(v3+1)

3 % 242
5(v3-1)
4, % Ve
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Question Number : 90 Question Id : 4509387610 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A ring and a disc of same mass and same diameter are rolling without shippmg. Their linear

velocities are same. then the ratio of their kinetic energy is
T | D5TPHEN aDGOD ) TN 50 2,8 50580 HOA YT SE Dy

e 3657 BN IS ZEK0T SDHTION. 6 HBBFHO A8

Options :

1.33
2.

0.5

2.66

Question Number : 91 Question Id : 4509387611 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The displacement of a particle of mass 2g executing simple harmonic motion 1s

x = 8cos (SUt & E) m, where t 1s time in second. The maximum kinetic energy of the particle is

NS wroreh) oo DAY 2g (ON0 do 28 $mo Yiodo

P 5or+%) m, 386 t OO DK0AOS” oS AFDD), {90 T,

16 19 48
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Options :

160 ]
1.¢

80]
2. %
L« 20]
4, % 203

Question Number : 92 Question Id : 4509387612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The relation between the force (F i newton) acting on a particle executing simple harmonic motion

and the displacement of the particle (y in mefre) is 500F + ny = 0.1f the mass of the particle is

2 g. the time period of oscillation of the particle 1s
N6 308 D050 TAMLNS) 28 903 HATANS) VOO(E S50 )
)80 8620 %5 (25050 (v D &) a3 022050 S00F + my = 0. 8630 (9655073

2 ©0NS §0 BO U 500

Options :

8s
1. ®

6s
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2s

43

Question Number : 93 Question Id : 4509387613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The gravitational potential energy of a body on the surface of the earth 1s E. If the body 1s taken

from the surface of the earth to a height equal to 150% of the radius of the earth. its gravitational

potential energy is

257 &52)0003) 28 s da)) 1D § D32 FS E. 8 Salehnd 2 523850 DO 25

TEITE 150% o) B S0ER 3y, %08 50eh Hoched s Vs 43
Options :

0.4 E

1.9

02E
0.6 E

i E

Question Number : 94 Question Id : 4509387614 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0 gcollegedunias



Awire of length 100 cm and area of cross—section 2 mm? is stretched by two forces of each 440 N
applied at the ends of the wire in opposite directions along the length of the wire. If the elongation

of the wire 15 2 mm. the Young's modulus of the material of the wire 1s

100 cm &7C8ed) SOOI 2 mm? DT FFO50 (i) 2.8 i) 2572.5),63 440N (i
B0 e B DGO SO Al k) Foad SAD% oS |HRFAOTE.
S MDA 2 mm a0 & ST R Heo

Options :

44 % 101 INm—2

1. %

1.1 X 101 1Nm™2
2.

2.2 x 10" *Nm™?
3. %

3.3 x 1011 Nm™2
4. %

Question Number : 95 Question Id : 4509387615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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Two cylindrical vessels A and B of different areas of cross—section kept on same horizontal plane
are filled with water to the same height. If the volume of water in vessel A 15 3 times the volume of

water in vessel B. then the ratio of the pressures at the bottom of the vessels A and B is

D8, DL ITEFEEN (16) ADBOMN B @96 BO QUPES 2P0 2.3 § 823
Jrod 003 G0D 28 B S3H ABS AorH. S A S 3 N
HBPE0 2P B SR N 0 HOTE 3 BEY @ond, A HOGM B e

9N BT D)

Options :

1:1
1. ¢
1:3

1:9

1:6

Question Number : 96 Question Id : 4509387616 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Water of mass m at 30 °C 1s mixed with 5 g of ice at —20 °C. If the resultant temperature of the
mixture is 6 °C, then the value of m is (specific heat capacity of ice = 0.5 cal g™ °C™*, specific
heat capacity of water =1 cal g™ °C™* and latent heat of fusion of ice =80 cal g %)
30 °C 93 110 m (¢33 07 150 3 —20 °C I K10 5 g 0TS EOPE. (e O
¢sf (196 6 °C, @900, m DS (MO N e Gs0=05 cal g™ oCt ALY DA
050 =1 cal g™t oCt B0 S0 (BB D0 =80 cal g2
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Options :

48 ¢
1. %

20g
2.

24¢g
3. %

40 g
4, %

Question Number : 97 Question Id : 4509387617 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two 1deal gases A and B of same number of moles expand at constant temperatures T1 and T
respectively such that the pressure of gas A decreases by 50 % and the pressure of gas B decreases

by 75 %, If the work done by both the gases is same, then Ty T

00 g tfeden Ty DO T 36 2,3 FO © oD SO Toch e3¢5%) aroia)en
ABAMN B, TANY A D0 50 % T DO DBAM ar0iNe) B A0 75 % 1]
DO 35190 TOATOW . FOCH aPAINHE T 2R TS, Tr:T)

Options :
=3
1. %
2:3
2. % 7
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Question Number : 98 Question Id : 4509387618 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When 80 J of heat is absorbed by a monotonic gas. ifs volume increases by 16 x10° m’. The

pressure of the gas 1s

28 )8 D0ITeE AN 80 T GaFR)) N0V TR a0 16 x107 m?

287D, 900 FoiNe b0

Options :

g -
<10° Nm™

I

4 x10° Nm™

2. %

6 x10° Nm™
3. %

5 «10° Nm™
4, %

Question Number : 99 Question Id : 4509387619 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0 Qcollegedunias



The efficiency of a Carnot heat engine is 23 % and the temperature of its source is 127 °C. Without

changing the temperature of the source. if absolute temperature of the sink 1s decreased by 10 %.

the efficiency of the engine 1s

2,8 520 D00 (8 25 % HOKM T SarFo0 Gaf|ifed 127 °C. &TFOHO
&SP fede) oS )00T, FBETFFODO e &F|15e5 10 % SO, B[O (58 ¢

Options :

27.5%
1. %

Question Number : 100 Question Id : 4509387620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total internal energy of 2 moles of a monatomic gas at a temperature 27 °C 1s U. The total

mternal energy of 3 moles of a diatomic gas at a temperature 127 °C is
27°C easf|1ied 50 2 IO © ¥ NGATEDE TASa) IS0 ©0dBEIS U.127°C
o165 30 3 IO © & 500STENS TN IS0 ©0ehHEHS

Options:

U
1. %

2. gcollegedunias



v 3
2U
3. %
2U
sx 3

Question Number : 101 Question Id : 4509387621 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The fundamental frequency of an open pipe is 100 Hz. If the bottom end of the pipe is closed and

érd of the pipe is filled with water, then the fundamental frequency of the pipe is
28 BOD dr) MO [0S eayds0 100Hz RO 1§06 ASEH v, =
506 PR AES 0 Y0 PEDE Fredea)igo

Options :

200 Hz
1. %

100 Hz

75 Hz

150 Hz
4. %
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Question Number : 102 Question Id : 4509387622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

When a convex lens 1s immersed in a liquid of refractive index equal to 80% of the refractive index

of the material of the lens, the focal length of the lens increases by 100%. The refractive index of

the liquid 1s

8638 ey 2982508 teasE 80% od|S 25553 theago e 2,8 1308 28 $o0275
EE35:50008) 00D, §638 28506550 100% DOTD. (0 S8 Zeded Heago

Options:

1.27
1. %

12

133

1.4

Question Number : 103 Question Id : 4509387623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The angle between the axes of a polariser and an analyser is 45°. If the intensity of the unpolarized

light ncident on the polariser is [, then the ntensity of the light emerged from the analyser 1s

2,8 936950 OO 28 DFNDTO BT S5 S0 45°. (BYIeTO3 HBIHS

959 508 B¢ 1 NS, DBATE HOB VT TS FOE e3(aded

:
gcollegedunlas
India’s largest Student Review Platform



Options :

21
1. %

I

2
2.

I
3. ®

I

4
4.

Question Number : 104 Question Id : 4509387624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The magnitude of an electric field which can just suspend a deuteron of mass 3.2 x 10727 kg freely

10 air is

3508 32 %10 kg fie TR & TOS VYT G0k IS I

201720

Options :

19.6 x 1078 NC?
1. ¢

196 NC~1

196 x 1071° NC
3. ®
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0.196 NC™1

Question Number : 105 Question Id : 4509387625 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two charges 5 nC and —2 nC are placed at points (5 cm, 0,0) and (23 cm, 0, 0) in a region of space

where there 15 no other external field. The electrostatic potential energy of this charge system is

30ch S37°e0 51nC SDOAM —2nC O (5 em,0,0) HBOI (23 em, 0,0) DONYE)
S0 AENH0E3 27753 |80 B @0STF0 Bg) NOAS G0, & &S S50
GB08), G s Vedvds

Options :

10 X 1077 ]

1. %

5% 1077 ]
2.¢

15 x 1077 ]

25 x 1077

Question Number : 106 Question Id : 4509387626 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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The space between the plates of a parallel plate capacitor is halved and a dielectric medium of

relative permuttivity 10 is mtroduced between the plates. The ratio of the final and initial

capacitances of the capacitor 1s

28 Jrodd 0L SIAND oo s Arow) g dlod, s

2883283 10 i) ¢S5, O D &OTED. BON, TG e HBAMH $)
TrADR) O A
Options :

20
1.4

10

Question Number : 107 Question Id : 4509387627 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A battery of emf 8V and internal resistance 0.5 () 15 being charged by a 120 V dc supply vsing a

sertes resister of 15.5 (. The terminal voltage of 8 V battery during charging is

8V emf OO 0.5 0 ©08) 50 EOAN 2.8 arseBed 120V de SENTS 1550
(363 DBESE0 ErA0D B3390 T N0HoeS 8V 2rstad By 8 4,82

Options:

:
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115V

1.¢

1.15V
2. %

115V
3. %

0.5V
4. %

Question Number : 108 Question Id : 4509387628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Resistance of a wire s 8 (). It 15 drawn in such a way that it experiences a longitudinal strain of

400%. The final resistance of the wire 1
2,8 if BB0%) DTG0 8.0. @8 400% TS NEyBE S orr eriadIe.
900 eff 0 B0

Options :

100 0
1. %

200 Q
2.

300 Q

400 Q
% :
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Question Number : 109 Question Id : 4509387629 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Current flows in a conductor from east to west. The direction of the magnetic field at a point below
the conductor 1s towards
28 P80 DS drdd) od HAHE 32 Sarod, aargo (§od fie
AN INATS oW YL T YA

Options :

North

GO0 Jo) OLNOD

South

- 55690 R OLNOD

East

- AP ) Da)) CTOELNOE
West

L DCING Do) COENOE

Question Number : 110 Question Id : 4509387630 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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Two mfinite length wires carry currents 8 A and 6 A respectively and are placed along X and ¥

axes respectively. Magnetic field at a point P (0,0, d) will be

v,

DS (TN 8 4 NBAN 6 4 i) T ©I0e &rcda) (10 ien SEIT X

B ¥ 950 302G G0GTON. P (0,0,d) ©F D0 & 9aHRI06 S (¢

‘5\ oo
e3[a)e
Options :
7 Ho
nd
1. #
10 o
d
2. %
14 py
d
3. %
5 Uy
nd
4.

Question Number : 111 Question Id : 4509387631 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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A short magnet oscillates with a time period 0.1 s at a place where horizontal magnetic field 1s
24 uT. A downward current of 18 A 1s established in a vertical wire kept at a distance of 20 cm
east of the magnet. The new time period of oscillations of the magnet i

882 Hrod8 eahary0 30 24 uT S Borren T, &6 @ohar;080
308y BOTHES 00 0.1, (800 Fay 184 DS DT o) 2,8 Devs) &,
P oo 0mds SRy 20 m GrdoS Hovatod. I

S0HA, 0630 BOT' BE) P BTSN
Options :
0.1ls

1. %

0.089 s

0.076 s
3.¢

0.057 s

Question Number : 112 Question Id : 4509387632 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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A metallic wire loop of side (/) 0.1 m and resistance of 10} is moved with a constant velocity in a
uniform magnetic field of 2 Wm™ as shown in the figure. The magnetic field is perpendicular to
the plane of the loop. The loop 1s connected to a network of resistors. The velocity of loop so as to

have a steady current of 1mA n loop 1s

$H20 () 01m 6O DGO 10 e S 2Wm? B fo NS
@006 T1$0S HEOS RS VY Fod HOFod. @ahr06 3 (do
AN) BerAs ©00T J0b. SN AT SOAFIE §0NaG00. SiES
1mA DENEE DOSGT (NeSerome ot sifdhe) 3o

X X X X X X X

l

X X X XX X X

3Q

Options :

067 cms !

2cems b

2. &

3cems?

3. %

4cems?

Question Number : 113 Question Id : 4509387633 Display Question Number : Y@
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In the circuit shown in the figure, neglecting the source resistance. the voltmeter and ammeter

readings respectively are

806 SOOH0S, 2% DB, DBV, &0 M B @t Béohen

DT
(V)
U
R=300 X=25Q X=25Q)
M0V
Options :
O0V,8A
1.4
150V,3 A
2 %
150V, 6 A
3 %
0V,3A
4, %

Question Number : 114 Question Id : 4509387634 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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The radiation of energy ‘E” falls normally on a perfectly reflecting surface. The momentum
transferred to the surface is

' 45 10 D8GEPeN D0PE DTEE 00 2 AQAENYT DSTR0D), eherRs

20 s 15530
Options :
E
1. €
2E
C
2. ¥
E
)
3.% ©
2F
=)
4, %

Question Number : 115 Question Id : 4509387635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Light of wavelength 40004 is incident on a sodinm surface for which the threshold wavelength of

photo electrons is 5420A. The work function of sodfum is

40004 éd%0if TY50 fie 508 FAOHO B0 NdJT0E. FHONO SerS
235025 30(F T30 54204 SOVS TR DA (NNODO J0H?

Options :
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4.58 eV

2.29 eV
2. ¢

1.14 eV

0.57 eV
4. %

Question Number : 116 Question Id : 4509387636 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The principle quantum number ‘n’ corresponding to the exited state of He™ ion. if on transition fo

the ground state two photons in succession with wavelength 1026 A° and 304 A° are emitted

(R=1.097x 10" m™)

B3 QBO oJ) Het @O B8 H05350 ToBSYD ST 1026 4°

0050 304 A° SEOHTTIEN (10 SFErS O G, Het ©OIRS (5P 5060

QODE 7 Do)

(R=1097x 10" m™?)

Options:
2
1. #
3
2. %
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Question Number : 117 Question Id : 4509387637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which physical quantity 1s measured in bamn

D 27DE T3 27D O TN

Options :

Radius of the nuclel

. So85%0 srdo
| :
Pressure 1n a liquid drop
16569 DOCDHES D D50
2. %
Scattering cross-section
DOT D NEFT I
3.¢
Rate of flow of liquid
OB e
4,

Question Number : 118 Question Id : 4509387638 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Truth table for the given circuit is

2552035 SOADO TBEY, HehgHEIS

A

Options :
A|IB|Y
0 8 |1
011]0
I (€]
I |k | 1

1. %
A|B|Y
0101
e SR
1 {0 ]0
HESE

2 %
AlB|Y
0101
011
L. I |
| |

3. ¢

4. %

O

}Y
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Question Number : 119 Question Id : 4509387639 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If R, and Ry are respectively the resistances of m collector and base sides of the circuit. and f is

the current amplification factor. then the voltage gain of a transistor amplifier in common emitter

configuration 1s

R, 08050 Ry &0 SENT DEOE, 85780 Fo SOM0S Ged) ATeTen HEA
DT NS 650 B OB, G636 GTPE DTEN0S 170) 116 SG80 ST S50

Options :
BRcRp
1. %
&
RcRp
2. ®
PRp
Rc
3. %
BR¢
Rg
4.
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Question Number : 120 Question Id : 4509387640 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which one of the following is not classified as pulse modulation

BOB DN A 3 HY0D ATERITBAS 5°60?

Options :

Pulse duration modulation

DO €958 STCHEBAR

1. &

Pulse Amplitude Modulation
D0 B DB AT ;DA

2. %

Pulse band Modulation

L, D08 D83 530 sTAS

Pulse position Modulation

DO TS S FBAR

4, %

Chemistry
Section Id : 450938161
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Number of Questions : 40
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Question Number : 121 Question Id : 4509387641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The de Broglie wavelength of an electron with kinetic energy of 2.5 eV is (in m)

(1eV = L6% 107 . m, = 9% 107% kp)

Liat lf W . .
2.5 eV © ({8248 o 2,8 JO[TE AT dS0NTEsm (m o)
(leV = 1.6 %1077 ], m, =9 x 10731 kg)

Options :
h x 10725
1% 72
b 105
-u’"ﬁ
2.
V72
h x 10723
3. ®
'\f’ﬁ
h x 1025
4, %

Question Number : 122 Question Id : 4509387642 Display Question Number : Yﬁgﬁ%i&'&‘nia@
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The ratio of ground state energy of Li**. He™. H is

Li%. He'. H® 256 48 D)€

Options :

3.¥

4. %

Question Number : 123 Question Id : 4509387643 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two statements are given below

Statement [: Nitrogen has more ionization enthalpy and electronegativity than beryllium

Statement II: CrOs3, By03 are acidic oxides

Correct answer 1s

1508 B @550 Rad SN

Fss I BIE2S 5 BEOAH0 0B D800 ©90HDEGE DTS, SHBAM

A ART IR EION)
¥ 5§ IT: Cr03. B203 €0 e &33)% €0

N OTONVNEMN WAL NAW
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Options :

Both statements I and II are correct

I 0805 I BOCH 55N 8D a)
1.¢

Both statements I and IT are not correct

I.080%0 II. BOCD °§ 5N DB 5°)

2. %

Statement I 1s correct. but statement I 1s not correct

55 T ABANAE. 570 75§ IT QBN 5°CH
3. %

Statement I 1s not correct. but statement II 1s correct

> §E I BN 5°¢N. 5°Q °EW§ IT QDD
4, %

Question Number : 124 Question Id : 4509387644 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of lone pairs of electrons on the central atom of BrFs. XeOs. SO respectively are

BiFs, Xe03. S0, © S0(¢) )aPeaday D)) 2,068 Z0E) dO[FRO 0D ST

Options:
1:1.2
1. %
.22
2. %

3. % Qcollegedunias
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Question Number : 125 Question Id : 4509387645 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The shape of colourless neutral gas formed on thermal decomposition of ammonium nitrate is

SRMA0D0 T IS0 5O I GOHBR BN TOMN) 38 e

Options :

Angular

§'eSoHho

1. %

Linear

B9A%

Trigonal planar

€357 Daeded

Trigonal pyramidal

|35°0 QP50

Question Number : 126 Question Id : 4509387646 Display Question Number : ch%lﬂestl n
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

At T(K) for one mole of an ideal gas. the graph of P (on y-axis) and V- (on x-axis) gave a straight

line with slope of 32.8 L atm mol ™", What is the temperature (in K)? (R =0.082 L atm mol* K

T(K) S8 28 IO S¢33)T00:8, P (7-980 2) 00k V! (x-980 ) © ahids

%) 0 28 ¢80 ©DoD0A. ) aren 32.8 L atm mol ™, &&life (K OS) J0e?

(R=0.082 L atm mol K1)
Options:

600
1. %

200

300

400

Question Number : 127 Question Id : 4509387647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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At 290 K. a vessel (I) contains equal moles of three Liquids (A. B. C). The boiling points of A. B
and C are 350, 373 and 308 K respectively. Vessel (I) 1s heated to 300 K and vapours were collected
into vessel (IT). Identify the correct statements. (Assume vessel (I) contains liquids and vapours and
vessel (IT) contains only vapours)

[ Vessel -Iisrich i liqud B

. Vessel - IT1s rich in vapour of C

I The vapour pressures of A, B. C in Vessel (I) at 290 K follows the order C > A >B
200K S S 1) &S N0 I © A, B, € (TR0, A, B, € © 81 Faren
SO 350, 373 SHBOKM 308 K. 33eh (I) & 300 K G50 S T, 2FaP )0 are (1)
S8 DEBOTH. BT P50 HBOIOR. (Pl @) & |Baren SHBM
2R YO0 GOEFANR, 2P (IT) € 2FaF 10 SIS GOLFONA D em)

L NS [0S B550 @O0 (rich) G08n0G

L 2P )¢S C-2arar)en OO0 (ich) Gosron
I PSDOS 90KSE A B, CO PN BTN FE0 (5desd C>A>B

Options :

I, I, I
1.4

L. II only
I, IT 307 €5 a0

2. %

L. III only
L III 557 €53
%

I1. 11T only
, ILII NV
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Question Number : 128 Question Id : 4509387648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
s . 1 S— : :
100 mL of 0.1 M Fe” solution was titrated with o* M Cr,02" solution in acid medium. What is the

volume (in L) of Cr,0%™ solution consumed?

OIS0 100 mL 0.1 M Fe¥ (008 =M (r,0% (@808 ©04:5ro0

T, DATFAODDES Cry02 (P58 sINBRPEIO (L OF) 0e?
Options :

100

Question Number : 129 Question Id : 4509387649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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Observe the following reaction
AB0; () —2E o 405480, (g)
AdH for this reaction is x kI mol™. What is its AU (in kJ mol™) at the same temperature?
(R=831 mol K1)
806 B985 28O0
480y () — X8 o 20(9+B0, (@)
& 10580 AH 2606 x kI mol™. 9T &&f|{fed oG &8 138550 AU s (kI mol? o)
20657 (R=8.3 Tmol' K
Options :

x — 8300
483

x + 8300

x —8.3

Question Number : 130 Question Id : 4509387650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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A vessel of volume V L contains an ideal gas at T(K). The vessel 1s partitioned into two equal patts.

The volume (in L) and temperature (in K) in each part 1s respectively

DINBATQO VLA FSS, TK

2PN AROTE. )8 270 N9BrEI0 (L OS) HB &af|ifeh (K ©

W,

DT

Options :

v,

2. &

P | =

ko =

) ) 28 &C38aP 0PI B. P TO o

Question Number : 131 Question Id : 4509387651 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

gcollegedunlas



At 300 K. A,GO for the reaction Ay(g) = Ba(g) is ~11.5 ki mol™. The equilibrium constant at
300 K 1s approximately

(R=8314Tmol'K?)

300 K 50, As(g) =Bafg). D858 A,G8 Denad ~11.5 kimol™. 300 K 30, derarge
V005 ST J0es?

(R=8314Tmol'K?)

Options :

1 % 10

100
2. ¢

1000

Question Number : 132 Question Id : 4509387652 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
100 mL of 0.1 M HA (weak acid) and 100 mL of 0.2 M NaA are mixed. What 1s the pH of resultant
solution? (K3 of HA s 107°; log 2=0.3)
100 mL © 0.1 M HA (2©a%s &320)Q 100 mL © 0.2 M NaA § $Oar. 8¢ |c7aeas)
pH 20eb? (HA 0308 K, 0€0e) 107°; log 2=0.3)

Options :

| % 4.7
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5.0

5.3
3.¢

4.0

Question Number : 133 Question Id : 4509387653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify the correct statements from the following

1. Reaction of hydrogen with fluorine occurs even in dark

i1. Manufacture of ammonia by Haber process is an endothermic reaction

111. HF 1s electron rich hydride

1808 3 HO& HED 5§D H8otHodk

i FOS & BB VG5 DEBS e BSHHAOH

i, 220 DSOS S0 058 2,8 ST 985

iii. HF Q0| F'® e @50 e 2r| B&

Options:
1. 111 only

i, iii 00" S5a)
1.¢ ]

i1, 9%
2. %
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i, iii o307 5o

1. 11 only

i, ii (B0
4, % )

Question Number : 134 Question Id : 4509387654 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which one of the following alkali metals is the weakest reducing agent as per their E values?
2t b ok
E’ Dene) esrSor (808 516 65 oFOS O 20 S0 § 038 SBEN0?
Options :

K

Question Number : 135 Question Id : 4509387655 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
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In which of the following reactions. hydrogen is one of the products?

BOB D VB, B RR 2,8 (805529501 E0CDD?

1. NaBHs+I, — »
11. BF:+NaH 2K

111. BFs3+LiAlHy —»

iv. BoHe+ NH3; 2,
Options:
1, 111
1. %
1 11
2 ®
1 1v
3.¢
111. v
4, %

Question Number : 136 Question Id : 4509387656 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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Two statements are given below
Statement I  : SnF4. PbF4 are 1onic in nature
Statement II : GeCl; is more stable than GeCly
The correct answer 1s
1508 BOCH 5050 R 52D
Py 1 | - SnF4. PbF4 ) @308 052790 $2)
Seag II - GeCly 30T GeCly @85S DENIE.
QTN QDadlTFI0
Options :

Both statements I & II are correct

B0 5N I & I DB

1. %
Both statements I & II are not correct
BOCH oD I & IT OBQADID) 5a))
2. ®
Statement I 1s correct. but statement IT 1s not correct
L spsI QERDAIE. 5% WS IT QDI 5°¢H
3.
Statement I 1s not correct. but statement II 1s correct
55T ABNNE 5°¢0, 57 W I DEDIE
4, %

Question Number : 137 Question Id : 4509387657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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Match the pollutant i List I with its maximum permissible limit in drinking water given m List IT

List I List1l
A Lead I 500 ppm
B Sulphate I 50 ppm
C Nitrate I 50 ppb

Correct answer l‘)
FOT 1 50 T TSR, FDT I S 335008 SHASS T 105

©DB0IANS B3OS 2STOH0E

T ALl
A B6 I 500 ppm
B NOAR] il 50 ppm
C ) I 50 ppb
QDA 2araw
Options :

A-II, B-III, C-I

1. %

A-II, B-I, C-III
2. %

A-III, B-I, C-II
3. %

A-III. B-II, C-I
4. %

Question Number : 138 Question Id : 4509387658 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimwnsiiruc ion
collegedunia:
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Time:0

Species A. B. C. D formed in the following bond cleavages respectively are
C’H;C‘HEQ—:- A+B

C’HgC'HQCu—:- C+D

1808 22085 DDYBOS” DB IS 237¢83e0 A. B, C. D SEOT

C‘H3C‘H2Q—p A+B
CH_;CHQCU—D* B
Options :

CH;CH: . T, CHCH; o

1.¢

CH;CH,", I. CH;CH,", Cu
2. %

CHGOH,: T, CReH;. o
3. ®

CHCH.. 1. €COeHs CGi
4, %

Question Number : 139 Question Id : 4509387659 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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What are X and Y respectively in the following reaction sequence?

X ekl Br,, heat
P P @f < Y
180 YOS 1500 X S0BA5M Y €0 S 2

CH
.-""W x ©/ 3 BT].:"L% Y

Options :

FeCls. 773K. 10-20 atm: = | Br
e
1. %
f]/CHE
Moy0s. 770K: i
Br
2. %
AlCls. A. 10-20 atm; j/g\”/CHa
Eir/k’f
3, %
Cr203, 773 K. 10-20 atm; = Br
- |
4.

Question Number : 140 Question Id : 4509387660 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0 gcollegedunias



A compound is formed by atoms of A. B and C. Atoms of C form hep lattice. Atoms of A occupy

. 2 . .
50% of octahedral voids and atoms of B occupy 5 id of tetrahedral voids. What is the molecular

formula of the solid?

28 O¥S0 A, B adBON € HETENHOD OG0B, € HSTEDHE hep

2ZOSR), SIOTON. A DISTENIEN 50% ST TGO GOT'OD SEDOTON. B
SOSTEED 2 S Sod TEFIES Sood eEhomw. S Jd

OENTIIET DO

Options :

A3 BgCs
1.¢

AxBsCs

AB4Cs

As BsCs

Question Number : 141 Question Id : 4509387661 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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At 300 K. 6 g of urea was dissolved in 500 mL of water, What 1s the osmotic pressure (in atm) of
resultant solution? (R = 0,082 L atm K mol ™)

(C=12:N=14;0=16:H=1)

300 K S50, 6 g © Ghrdoird 500 mL © BS $0fomd. H8)E (o)
DB DS (atm ©) OS? (R = 0.082 L atm K mol™)
(C=12;N=140=16:H=1)

Options :

0.492
1. %

2.46

492
3.

49 2

Question Number : 142 Question Id : 4509387662 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In water, which of the following gases has the highest Henry’s law constant at 293 K?

1806 3 5B FOHOS ABES 293 K 3 BRE 27D Aohad Y008 Dewad
230} GOLNOA?

Options:

2. Qcollegedunias



®
He
3.¢
H»>
4. %

Question Number : 143 Question Id : 4509387663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Constder the cell reaction. at 300 K.

A() + B¥(a0) = >~ A¥@ag) + BG)

Its E9 is 1.0V, The A, HO of the reaction is -163 kI mol™ . Whatis A,S® (in 7K™ of the reaction?
(F= 96500 C mol™)
300K 30 608 19850 H8300then

AB) + B¥(ag) = - A2+(aqj + B()

A EC Dens LV, 2985 A HO Densd -163 kT mol™, 1965 4,5 (1K ©5) J0es?
(F=96500 C mol ™)
Options :
10

1. ®

. 100

1000
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10000

Question Number : 144 Question Id : 4509387664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The rate constant of a furst order reaction was doubled when the temperature was mcreased from

300 to 310 K. What is its approximate activation energy (in kJ mol™)?
(R=8.3Tmol 'K 1 log2=0.3)
28 TCE (3508 1505 Bew YTP0%0 &sf(1fed 300 oG 310K § DOADYc TE0s)
90008, 185 G828 38 (7 mol 1O ) DT Joes?
(R=8.3Tmol ™ K™ log2=0.3)
Options:

5.3

L

Question Number : 145 Question Id : 4509387665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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Which of the following solutions 1s used in the styptic action which prevents bleeding of blood?

B3RP ABBOT VI 965" 1800 O (TSP, EOTPANED?
Options :

CoCl2 solution

CoClz |TI°5€9000

FeCl; solution

FeCl3 [T3°a)£20000
2. )

Gold sol
O S

AgBr emulsion

AgBr )ed®
4. %

Question Number : 146 Question Id : 4509387666 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
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‘A’ 15 a protecting colloid. The following data is obtained for preventing the coagulation of 10 mL

of gold sol to which 1 mL of 10% NaCl is added. What is the gold number of ‘A"

A 28 D80S STONG. 10 mL © 7 S 0, 1 mL © 10% NaCl D $DDS)ch 867

0GR ATB0HER (808 DTN STodsn B3AR00. A O No;

Expt. No. | Wt (1n mg) of A added to gold sol | Coagulation
1 40 Prevented
2 35 Prevented
3 25 Not prevented
4 32 Not prevented
5 33 Prevented

2 0Ed?
3R 095 | 7D 7S % LD A 2r80 (mg ) | 908650
1 40 Qar002H00
2 35 ATB0DE0H
3 25 IR ORTAR [O[AN
A 32 RN AR IO )
5 33 QarG0G00
Options :
32
1, ®
33
2. ¢
3. % 3
4% 40
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Question Number : 147 Question Id : 4509387667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Two statements are given below

Statement I: The reaction Cr0:+2A1 > ALO3+2Cr (AGS= —421 kJ) is thermodynamically

feasible
Statement IT: The above reaction occurs at room temperature
The cotrect answer 1s

150 BOCH ar 55N Ad RO

T3 T ;005 CnOs2Al - ALOR2Cr (AGE= 421 ki) tsa)ieds QGO

A5
TR 205 A0 Sl SO 28D
NOJOIVNRANVEARNAW

Options :

Both the statements I & II are correct

PPFEN I & I BOC® BN

Both the statements I & II are not correct

PRI I & I BOC® OB QD) 5%

Statement I 1s correct. but statement II 1s not correct

5 I DO, 5°Q ¢ I HBTPSE 5°¢d
3.¢
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Statement I 1s not correct. but statement II 1s correct

5 I DO 5°C. 5% S IT IO

Question Number : 148 Question Id : 4509387668 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The basicity of H3 PO, H3 POs. H3 POgrespectively is
H3 PO», H3PO3, H3 POy © S*5eb S50
Options :

2

[ ]
L]

I3
H
(%]
¥
L]

Question Number : 149 Question Id : 4509387669 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following reactions of KMnOy4 occurs in acidic medium?

1806 KMnOs 9G5S D& €360 aSrdEoeS 2&ihai?

Options :
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Oxidation of thiosulphate to sulphate

HBTISIE, OSIE 1 e383)8500 ToSE0o

Precipitation of sulphur from H>S

H2S cD0G )0 @953 Ho B0
2.¢

Oxidation of 1odide to 1odate

OBNTEH, 9BNTE) 1 €38 )EB a0 Todcho

Oxidation of manganous salt to MnO;

SrOHRR 65690 MOy 1 €38)5880 TOEG0

Question Number : 150 Question Id : 4509387670 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which complex among the following is most paramagnetic?

1808 Q NOIRNO0 ©ebsHE DT @OV 0ed (TR, EORIND) E?

Options:

[Co(NH3)s]>
[Co(NH3)s]**

[Co(H20)6]*
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[Co(H20)6]™
4.

Question Number : 151 Question Id : 4509387671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Polymers that can be softened on heating and hardened on cooling are called
SATASYED YIS (DBred) B8 (8 Srdh) ToB FOHG
O 8 A0 DeNJ' D

Options:

Thermosetting polymers

E5a1 9 Ch D D0EN
1. %

Bakelite

BEBEO
2 %

Fibres

SFHEN
3. %

Thermoplastic polymers

S8 1VS D nben
4.

Question Number : 152 Question Id : 4509387672 Display Question Number : Yes Is Question
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The number of —OH groups in open chain and ring structures of D-glucose are respectively

D - (8% Q) Ddyd F9090 BN J0ah AoEroS -OH ddrste

NODEEN I
Options :
kb3

y 5
2. %

5 4
3, %

0. 5
4, %

Question Number : 153 Question Id : 4509387673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is correct statement?

BOB ¢3S DO OB 0§ ?
Options :

Starch 1s a polymer of B-D- glucose

0T B-D- (0°8%5 GBwEy Db

1. ®

2.9
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Amylose 1s a component of starch

OS2 OO 7D, B, 28 9NEE0

Proteins are biopolymers of only one type of amino acids

(3R 2,3 555 A’ e3OT S50 BT 289 ST

Lactose 1s a disaccharide of a-D-glucose and 3-D-galactose

erSeS 9O ¢-D-IrSS SHBW B-D-roS S © BTEDEL

Question Number : 154 Question Id : 4509387674 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following 1s NOT correctly matched?

1808 ¢3S DO DB 226 TOHDEHTCD?
Options :

Aspartame — Food preservative

&0 TV — 858 KT HodE go
1.4

Butylated hydroxy toluene — antioxidant

2SSV 37(@E) SO — 05r0e3 385565
2. %

Novestrol — antifertility drug

. SSFS — asroes DODES Hock
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Bithionol — antiseptic

DEBBONS O-03r083 DS
4. %

Question Number : 155 Question Id : 4509387675 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

FeCl =
‘o = T 1 R
Na / dry ether
Conversion of X to Y 1s an example of
FeCl i
+ C, —— X =
A Na/ a0
&0

X DY 58 D35 OB 2.8 &rrrde
Options :

Wurtz reaction

&Q &8 W3
1. %

Fittig reaction

DEH S5
2

Wurtz-Fittig reaction

&0 25- DR DS
3. v
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Friedel-Crafts reaction

(DBS - (57 D65
4. % i

Question Number : 156 Question Id : 4509387676 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not an example of allylic halide?

808 73S DO @BOE FBE B 2.8 SIS 5°¢H?
Options:

4— chlorobut —1— ene

1§87 -1-&S
1. %

1— Chlorobut—2—ene

1- §8 arsd2- &S

2. ®
3— chloro — 2— methyl but — 1— ene
3-58 -2 -3 aeg - 1- &S
3. % '
4— chloropent — 2— ene
458 2006 2- &S
4, %

Question Number : 157 Question Id : 4509387677 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
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What is the major product ‘Z” in the following reaction sequence?

Oleum (1) NaOH (1) CHCl3 NaOH
— X = >
(QH @)H

808 185 18006 (DTS G5 )5)0 2" DE?

50050 (1) NaOH (1) CHCly/NaOH

—» X —> X
(2)H Q) H

-

Options :

o- Hydroxy benzaldehyde

0- 37|18 ) o) 3rsH
1.4

p- Hydroxy benzaldehyde

p- @8 Bordord

2. #
o- Hydroxy benzoic acid
0- 37|18 ) BoF ans eseN0
3. %
p- Hydroxy benzoic acid
= =] o
p- 378 ) ToS 0wk essDo
4. %
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Consider the following reactions

HGE"‘;{' H"' [somerization

» [X] = = Y

C,H, +Hy0

333K
Y cannot be obtained from which of the following reactions?
1508 25050 DOHEI0T 0

e/ ORPSBENS ,
£ » [X] = —

CH, +H0

333K
808 o) B985 DOD Y BCCH?
Options :

Pd/

CH,COCI + H,
? e BaSO,

Cu/573K
CH,CH,OH -

CH;CN + SnCl, + HCI = X g

(1) LiAlH, /ether
CH;COOH -
(i) H,0
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Assertion (A): Carboxylic acids are more acidic than Phenols
Reason (R): Resonance structures of carboxylate 1on are equivalent. while resonance structures

of phenoxide ion are not equivalent
D)0 (4) : T8IO5 sairen DO © §0B) WO B AeFrR) §6)
FIOlAROW

$0a0 (R) : ST)EBE) @OIFI 5 AT TERR) NTEPE) GOETFAN T

¥

D36 ©05PD 5) @RATN BE RN, T)ETE) G0ERo)
Options :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(4) OO (R) B0 0O DA (A) 50 (R) OGN ad8ed
1.¢

Both (A) and (R) are correct But (R) 1s not the correct explanation of (A)

(A) D80 (R) BOLT BN 5% (A) B0 (R) 0O aedFed 52D

(A) is correct but (R) 1s incorrect

L (4) HOTRIO SR R) HOTSE ¢
3.

(A) 1s mcorrect but (R) is correct

. (A) QBDAE 5°CD1 5% (R) dEDIE
4.
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In the reaction sequence Y 1s

(1) NH; Br,/ NaOH

CH;CO,H » P = Y
(2)AA

HTYEN0S Y @03
(1) NH Br, / NaOH

CH;CO,H s » P A = Y
(2) A

Options :

a primary amine with same number of carbons as in P

PSR 55)S © 50 He57 0SS 5EIQ e 16 2.8 | 2608 DS

a primary amine with one carbon less than in P

P S S0 28 5°85)S 650505 (0 2608 DS

2. ¢
a secondary amine with same number of carbons as i P
B S’ 5EIR © B0, D5 HoWES 5°BIQ 0 (e VE0EE NS
3.
a secondary amine with one carbon less than in P
L x B S 0T 2.8 5 502 o) DE0HE A&
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